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Reading task -

Read the non-fiction text and answer the retrieval guestions.

The Water Cycle

Did you krnow thal there is the some amounk
of mader on Earth now os there was when
the Earth wmas fiusk formed? This is bhecouse
of a process that incdudes gprecipilalion,
colleclion, exaporalion and condensalion
krown as The Waler Cycle.

How does the Waler Cycle work?

. To hegin with, waler, which is skored
on Earih in lakes, seas, oceans, sbreams
and rivers, is healed up hy the sun. This
buns the liquid waler inko a gas called
waler NOQOUE.

2. Al this poink, the waler xvapour rises and
it is meen in the sky os clouwds This is
exvoporalion.

3. As the waler yvapour rises, it begins ko

cool down ond becomes liguid again. This
park of the process is called condensalion.

* You samelimes see condensalion on kitchen
.and bathraom window.s.

The heat from the sun is o wital
part of the cycle.

These water droplels envenbially foll hack Lo
earth os precipilabion - rain, snow, hail or
sleck.

L. As the waler reaches the ground, ik
flows hock lo rivers, sea, sbreams and
oceans. Some waker is abhsorhed by planks
hodies of waler. This final part is called
collection

5. The cycle is now ready ko begin again.

This process s conbinwous and is
happening all around ws, all the lime. The
Waler Cycle is wital for lfe on Earth
Without it, Life would not he ahle o exist

on our planck

Did syou know?
The Waler Cycle is also known as the
Hydrological Cycle.




Questions -

Use the numbers -4 to order the different parts of the

condensation O
collection O

precipitation O

envaporation O

What is the name for w.ater in its gas form?

Ql

Q2

Q3 Where .are two places condensation can he seen?

1)

2)

Qk Where does imost of the water from the cycle end up?




5 For each statement, tick the .correct hox to show whether
Q it is true or folse.

Statement True False

Water vapour in the sky is seen as clouds.

Precipitation is w.ater Jalling hack to earth.

6 Draw lines to inatch the parts of the water cycle to the
Q correct term.

N OUPOMT xx&a&u@ﬂw&kgan{imm

precipitation e cloude
condensation waker wapour rising and hecoming
exaporation wader falling hack to Earth
collection water flows hack to rivers, seas,

Atreams and oceans




Writing/SPaG task
Creative writing - time to use yowr imagination!

Reread the writing yow did yesterday. Read it out loud. Does it
make sense? Is your punctuation correct? How is your
spelling? Today, youw are going to edit and improve yesterday’s
work. Once youw have checked for sense, spelling and
punctuation, see if yow can improve yowr sentences with
different vocabulary or language choices.

What would life on Earth be like if dinosaurs were
not extinct? Write a paragraph describing a world
where dinosaurs do exist.

Extension - once you have edited yowr paragroph, rewrite your work in
yowr hest handwriting for a ‘hest’ copy.

SPELLINGS - have you had a go at learning your spellings for the last 2
weeks? Ask your grown up to test you! Don't forget to check the website
tomorrow for a new list,




Maths task (This learming is also supported on White Rose

Maths home learning with presentations and worksheets)

https://whiterosemaths.com/homelearning/year-4/)

Decimals — reasoning and problem solving

1) Some children have planted sunflowers
and have measured their heights.

Child | Height
Beth 123 m
Tony 095 m
Rachel 102 m
Kate 1.2m
Faye 99 cm
Emma 097 m

Order the children based on the
heights of their sunflowers in both
ascending and descending order.

3)  Alex says:

If | know % is 0.5 as a decimal, | also

kno 23
W=,=
6'8

as a decimal.

6 .
and T are equivalent to 0.5

Explain Alex’s thinking.

4) A number with one decimal place

rounded to the nearest whole number is
45

What could the number be?

Assessment avuilable for the decimals at -

https://wrm-13b48.kxcdn.com/wp-content/uploads/2019/04/2019/04/2019/04/Year-4-

2) Mo says 0.4 rounded to the nearest

whole number is zero.

Whitney says 0.4 rounded to the nearest
whole number is one.

Who is correct? Why?

Decimals.pdf



https://whiterosemaths.com/homelearning/year-4/
https://wrm-13b48.kxcdn.com/wp-content/uploads/2019/04/2019/04/2019/04/Year-4-Decimals.pdf
https://wrm-13b48.kxcdn.com/wp-content/uploads/2019/04/2019/04/2019/04/Year-4-Decimals.pdf

Tomorrow.....its a bank holiday! There won't be any home
leaming tasks uplouded tomorrow. However, this weekend,
marks the anniversary of an important event. VE day (Victory
in Ewrope day) is held on May 8th. It commemaorutes the end of
the Second World War. I have uploaded a new home learning
grid with some activities and learning for VE Day. It's also a
great time to start looking at our ‘Picture News ' as there is a VE
Day Pictuwre News special. Picture news can be found under the
‘Children tab on the birches wehsite.

Stay safe, have fun)




